Final revision
Geometny

"~ Choose the correct answer

Two similar polygons are congruent if the scale factor k satisfies that

@k=3 b k=1 ©k>1 (0<k<1

K)i way.

> ks Cony.
o(k(i WA '\,

Mr. Michael Gamil 017/ :l& 15981


Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil




n Toge*her we can make math easier

Choose the correct answer

The ratio between the perimeters of two similar triangles is 4 : 9 » then the ratio between
F—— —— e

the length of two corresponding sides =
(@4:9 (b)81:16 (c) 16 : 81 (d3:2

& . WW\e \ ks >
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“ Toge*her we can make math easier

Choose the correct answer
The ratio between two corresponding sides in two similar polygons is 2 : 3 s if the

perimeter of the smaller is 14 cm. s then the perimeter of the greater =

(a) 10 (b) 15 (c) 42 (d) 21

Mr. Michael Gamil 017/ :l& 15981


Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil




Choose the correct answer
In the opposite e:
If the polygon ABCD ~ polygon XYZL

(a)5 Y 9m. X B 12cm.
8 (©9 (d) 21 — -

2 = 3K
YT 9 K*Z}%
3 (3K 1) = i (k«)

—
K -2l kK y

Ak -4k = l(-eQ.\

SK = 9S :-Ksézcj
S
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Choose the correct answer
In the opposite figure :

If DE // BC s3 DE =2 BC

EC =5 cm. s then AE =

(a) 15

| ©10 m () 6

DE _ A6

[ — s S e ———
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Choose the correct answer

a(AXYZ) _

If AABC ~ A XYZ and AB =3 XY » then 2 (AABC) —

(a) 9
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Toge#ler we can make math easier

Choose the correct answer

The ratio between the lengths of two sides in two squares is 3 : 5 and the area of the

greater square is 100 cm? » then the perimeter of the smaller =
——

(a) 12 (b) 16 (c) 24
2
y B
3

S
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n Togeﬁﬂer we can make math easier

Choose the correct answer

Two polygons are similar. The ratio between the lengths of two corresponding sides is

5 : 3 and the difference between their areas equals 32 cm? » then the area of the smaller
F————
polygon =

(a) 18 (c) 50

O'¢=9-5W\ a -qw\

1,0

d.cﬁ = a‘ -, =32
25m .-qWL =32

\bwm =2 \ cwm=2
Q\ = 95(.2) = SO '-—:; O.,:c‘ (2) 3\8\—;5

Mr. Michael Gamil 017/ :l& 15981


Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil




n Toge*her we can make math easier

Choose the correct answer o

In the opposite figure :

The area of the quadrilateral DBCE = 3 the area of A ADE
(a) 3 (b) 4

(c)8 (d)9

DE—//é’E,

_ Q. o ADE
a-bABC ( )

? °\(>§5
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m Toge#ler we can make math easier

Choose the correct answer
,-f\ M
If the polygon’ABCD ~ the polygon XYZL and AB =32 cm. » BC =40 cm.

’XY=(3m—1)Cm ,YZ:(3m+ 1)cm. sthenm=--eeeeee
(@) 5 (b) 1 (©)2 (d)3

AB__B&@ZZ Lo

xS IZ Bm-\  Rma)
<~

Le%m %

lQO":lén:%Q. + 40
QL(M = Tl . WML = }Q_T(L

Mr. Michael Gamil 017/ :l& 15981


Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil




Choose the correct answer

In the opposite figure :
DE // BC sDE =4 cm. » BC = 12 cm.
sAD =(X-2)cm. s BD = (X +2) cm.

SRS eme e cm.
Py (b) 8
s —~ ()12
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Choose the correct answer #*

In the opposite figure :
M is the point of intersection of medians of A ABC

»ME//BD »then ME- . 22 o _ A
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Choose the correct answer *
In the opposite figure :

m (£ ADC) =m (£ BAC) » X =

(a) 39

(c)54 (d)7.8

LB s & Comen awyle

mB@C) s D)
M(L@)s "'\‘
= DRAC ~ DBDA

BA AC _CB _ BRA5

- —

BD - Of AR %5 Us

x 5 - _BX8
N 5

x 1—6(?‘1-8

x:\l—g 06 7?8""
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m Toge#ler we can make math easier

Choose the correct answer

In the opposite figure :

A ABC is right angled triangle at A X
» AD 1 BC » then the false statment
of the followin%is ®

O« %

° Oxe Oge
(a) AABC~ADBA (b) AABC ~ADAC

| (¢)AACD ~ABAD (d)AD =DB x DC

(AD)" = DBXDC

ReD neg
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m Toge#ler we can make math easier

Choose the correct answer LAS)" -
In the opposite figure :
AB =30cm. s DC =32 cm.

(A= BD xBC
2,

(30) =z (¢ f3‘2.)
—2 a

Qoo =% + 32 %
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m Toge*her we can make math easier

Choose the correct answer
In the opposite figure :

DEF is a right angled triangle at E
»EN L DF sDN =4 cm. s EN = 6 cm.
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Toge*her we can make math easier

Choose the correct answer

In the opposnte figure :
BCLI*Z‘QS‘\—\L 3?

(a) 44 (b) 37
(c) 28 (d) 52

C = N9 . 25

AD . 19K2° o
2.5
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Choose the correct answer

In the opposite figure :

ABCD is a parallelogram s F €CD

sAE=12cm. sFD=4cm. s AB=8 cm.

s then BC =

| @18 (©) 10

AN A~
D ABE ~ INNDFE

AE 3
“"0E —
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Choose the correct answer

In the opposite figure :

KE // BC sEF// XC sKE=9 cm. » BC = 12 cm.
s CX =8 cm. sthen EF =

(a) 3
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Choose the correct answer
In the opposite figure :

m (£ D) =m (£ ACB)

» then AB =

(a) 12

o (c)18

A\
DA ~ b fDe

pe _pE
10 AT =7

\2
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Choose the correct answer

By using the givens in the figure
(a) 15 24
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Choose the correct answer

In the opposite figure :
BC bisects £ ABD
N AC R cm.

(a)4.8 (b) 5.4
l (©)58 d) 62

» ASC —~ DBBE
AQ-EE,E_C___D@_
DR~ BE~ 0OE ~ [3)

AC - 4’;"1 Sl
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Choose the correct answer

In the opposite figure : ; /

m (£ B)=m (£ E)=m (£ ACD)

s then AB =

(a) 12 (b) 15
20 25

©3Z @2

A~
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Choose the correct answer

In the opposite figure :
If BC =18 cm.

NF 7 ED
-~ PR
DEME ~DEED
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m Toge#ler we can make math easier

Choose the correct answer

In the opposite figure :

If D is the midpoint of AB , E is the

midpoint of AC > DE =6 cm. » then

(@ X=y

(©)X=2y (X+4)em.
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Choose the correct answer Y - * =40

In the opé)osnte figure : o A * -Qto B

X+y=

(a) 12 (b) 15
(c) 18 (d)21

' &ApD -

%*
< el 7
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Toge#ler we can make math easier

Choose the correct answer
In the opposite figure :
In AABC »if AB=AC > BE =25 cm.
»m (£ BDE)=m (£ CFE) o4 »2®
»DE:EF=5:4,then BC=

i (a)45
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m Toge#ler we can make math easier
Choose the correct answer Q%

In the opposite figure :

ABCD is a cyclic quadrilateral

» then the area of A AFD : the area of ABFC = ---evvvn.
(a)2:3 (b)3:2
(c)4:9 (d)9:4
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Choose the correct answer
In the opposite figure :

If CB N DE = {F} , then the value of X =
(a) 6

(c)8

H(y+«x)=3 (16)

P\
B
Uiz =\

Hax =

Yx:%""‘
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Choose the correct answer

In the opposite figure :
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Choose the correct answer

In the opposite figure :
M is a circle with radius 3 cm.

»yAB=4cm. sAC=5cm.

(c)4

ABx AE = AC X AD
(“) (1) =5 AD

A - X0 _
5 DC=B —5= e
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Choose the correct answer

In the opposite figure :
AB=3Xcm. »CB=Xcm.
sDE=(X+4)cm. sCD =8 cm.

CB ) Cﬂ = CD XCE

() (4x) = (3)( 2 +\2)
b =32 96
LMZ'—%% -qe =0
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Choose the correct answer
In the opposite figure :

CE=Xcm. sDE=(3 X-1)cm.

—_———
sAE=(X+1)cm. s BE=2 X cm.

’ thel’l X = eeeieiiennns cm.

l @2 (b)3 ()4

EA rEB=ECXED
() 62?4 = (3% -\)
<~

2% + 2 = 3 - |

2 -32 = -\ ___
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Choose the correct answer

In the opposite figure :

DB ; CE are two chords in the circle
,ﬁﬂﬁ={A} »yAB =X cm. s AD =6 cm.
s AC =(2sin 8) cm. s AE = (9 csc 0) cm.

» then the value of X = -ooooienenn cm.

| (a)3 (c)6

AR x AD =AE X AC

(%) (6) =(acsce) (25 8)

61— :\{ i:- Zz=3——
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Choose the correct answer
In the opposite figure :

AB is a diameter in circle M » E EAM
where AE=EM sEC =4 cm. » ED =3 cm.

» then the circumference of circle M =

[\

(a)4 7T (b)8 7T
()16 TT (d)20 7T

EA x ER - EC K ED
() (8x) = () 3
c. fy,l:L( T':. 2 = 2.&,*

’(“-“B;Qz, = L'( A—

CxC.= 2T
QATIXY = T
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Choose the correct answer

In the opposite figure :

A semi-circle » the center of the circle is M

sthen X =

@5 (b) 7 (c)8

L(%-\-H =Y
Uxz= 20
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Choose the correct answer

In the opposite figure :
If DE // BC DB = X% cm.
sAB=27cm. sAE=20cm. s EC =10 cm.

A 20cm. E 10em. C

(c)+£9 (d)+3

NAED ~ A AR
2
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Choose the correct answer

In the opposite figure :
If AB// DC
sthen X = -vvvvvvvvnns cm.
B (@6
| (¢)4

3 -
g +7

=
S

2 «—
X 422 =24y

%L—\-‘L%-—ZL( c O

@D
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Choose the correct answer

In the opposite figure :
BC // DE » 0 is an acute angle

@
» then DB = cm. 3(28 30

(a) 2

i (¢) 3V—

3
2
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m Toge*her we can make math easier

Choose the correct answer
In the opposite figure : -*
DE=(X-3)cm. »EF =5 cm.
sthen X =
(a) 3

| | (c)8

DE = EF
—>

x -3z 5

\ =3
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Choose the correct answer
In the opposite figure :

If AD//EN// BC
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Choose the correct answer
In the opposite figure :

If AD// EF // BC
sthen k= s cm.
(a) 3

©9

K 3
g/ak
2K2=\8

Kl:ﬁ
~ K= {x=3c
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m Toge#ler we can make math easier

Choose the correct answer

In the opposite figure :
IfAD:AB=2:5
sthen X = vvvveveeenns
(a) 8

i (©4

FE _
EC

=
o +6 =32 +\2
Lo—

Ux -3x =\2 -6

E¢= 6
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m Toge*her we can make math easier

Choose the correct answer 9%

The interjor and exterior bisectors of an angle at the vertex of an equilateral
triangle

(a) are perpendicular. (b) are parallel.

(c) bisecting each other. (d) All the previous.
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m Toge*her we can make math easier

Choose the correct answer
The exterior bisector of the angle at the vertex of an isoscles triangle the base.

(a) bisects (b) is perpendicular to
(c) is parallel to (d) is equal to

oot \

oasS e
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Choose the correct answer
In the opposite figure :

If AD bisects 2 BAC
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Choose the correct answer

In the opposite figure :

(a) 8
(b) 412
| ©2915

(d)6 ‘

gA . AD
BRC CO

__Yxio
gc- MX

BLO= VBRARBC -ADXD =J1o)(®) (W

- 289
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Choose the correct answer

In the opposite figure :

The perimeter of A ABD =

(a) 69

(c) 55 (d) 60

| pB8 _ BV 2%

O

aC CO \S

e CD? Lzz’ﬁ;? :\0\.’-/

A'D:X LN\ —\$\\o =\ .—
D DABD=15\8 x2F —b60—
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Choose the correct answer
In the opposite figure :

AE bisects £ BAD » EF // BC

sthen EF : BC =

(a)3:4
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Choose the correct answer
In the opposite figure :
AE is an exterior bisector of Z A
» then the value of X =
(a) 1
j ©3
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m 0ge her we can make math easier

Choose the correct answer
In the opposite figure :
AD bisects £ A externally s AB=3cm. »AC =2 cm.
sBC=12cm. s then CD =
(a) 8 (b) 6
i (c)4.8 (d)S5

g 8D S .\
%—-C - CO Q D

LRVNE o
3 - o

.CO =
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Choose the correct answer

In the opposite figure :

AD bisects Z BAC » AE bisects the exterior Z A

,BC=5cm.»DE =% em.

(a) 10 \2 ®) 11
(d) 13
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Choose the correct answer
In the opposite figure :

If AD bisects the exterior angle of the triangle

at Z A » B is the midpoint of CD > AB = 12 cm.

sthen AC=--iivivvnennnn cm.
— )
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m Toge*her we can make math easier

Choose the correct answer
In the opposite figure :

IfAD=3cm. >AE=4cm. sCE=3cm.
s then DC =
(a)4
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Choose the correct answer
In the opposite figure :

m (BD) =m (CD)

» then the length of AE =

()42

l 4
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Choose the correct answer
In the opposite figure :

AE bisects (£ BAF) s AD = 2 cm.
sDC=4cm. AB =3 cm.

sthen BE = - ovvoviiennn. cm.

i (@3 (b)4
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Choose the correct answer

In the opposite figure :
If AD bisects Z CAB » AE L AD

h (28
I (c) 11
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m Toge*her we can make math easier

Choose the correct answer
In the opposite figure :
ADC is a right-angled triangle at D
y AD =30 cm. s AC = 50 cm 5 AB bisects Z A
and intersects CD at B 5 then X =
8 (a5
I (c)25
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m Toge*her we can make math easier

Choose the correct answer

In the opposite figure :
AD bisects 2 BAC

l (©81:144 (d)9: 49
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Choose the correct answer

In the opposite figure :

If the area of A ABC =72 cm?
» then the area of A ADB =

(a) 24

(c) 32

Mr. Michael Gamil

0177 s 16981



m Togeﬁﬂer we can make math easier

Choose the correct answer
In the opposite figure :

[fAB xAC=10cm. » BD x DC =6 cm.
»then AD =

(a) 2

(c) 8

Goodlcuk
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